HOE ol & A & Al A
2008E = 204 LB
CHol: SASN B2t 23 (Er2): ®2l)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
sz ael 26,176,819 31,008, 219 A4, 826, 400
gglegyyps 733, 536 1, 186, 560 A 453,024
Py g3 As 733, 536 1, 186, 560 A453,024
sgdae |33 28 S 8, 000 7, 800 200
201 LEer2gH| 8, 000 7,800 200
01 AtS2e2ldl 8, 000 7,800 200
o284 = 8, 000
SHIEEM Y 84 93, 236 75, 060 18,176
201 Ler2Zh| 37,836 27,060 10, 776
01 AR Zteld] 26, 836 18, 360 8, 476
Oger=2H| = 11, 836
Or=1=i:] = 8, 000
Ost3MA M = 7,000
02 2=2gl 11, 000 8, 700 2,300
OO0lI2dol 24| = 7,000
OHDIZ20HE g3l = 2,000
OI'SOI4001ALZE 22| IS & AtHI = 2,000
202 04l 53, 000 45, 600 7, 400
01 SLHObI 53, 000 45, 600 7, 400
otz ae|lg2Fa = 45, 000
Or=1=i:] = 8, 000
203 R =&y| 2, 400 2,400 0
03 AIMFXHRZ=LZIHI 2,400 2,400 0
Otz ae|d2F = 2,400
HEsgdns T2 29 44, 300 45, 000 AT700
307 2I2t0| A 44, 300 45, 000 AT00
02 QIZHBAME =X 44, 300 45, 000 AT00
Oxgstzdus=Ez)d X = 44, 300
= 31, 000]
== 13, 300]




SN2
HH: HelEd N
ol AT B2t 2tal (Erol #@ e
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
EEEAM2E #MA Y R 101, 000 41, 000 60, 000
307 2I2tol A 101, 000 41, 000 60, 000
02 QItAAE=X 11, 000 6, 000 5,000
O3 2424 Hssdzelg J=Xad g0l
= 6, 000
Oz ZHE dAIZ I = 5,000
04 DIZFSHALE = 90, 000 35, 000 55, 000
Ostge g @At s = 10, 000
O== 22409 &8 1IR3l = 20, 000
O=MesZB2HelHE = 60, 000
TES=E21 FHEs 4 220, 000 201, 000 19, 000
307 2I2t0| & 220, 000 201, 000 19, 000
02 QI2ZtFAMNEX 220, 000 201, 000 19, 000
OF =21 FHNE9s 29 = 170, 000
OtZEH HHASHI = 50, 000
SEEFEI S g4 250, 000 800, 000 A 550,000
307 2I2tol A 250, 000 800, 000 A 550, 000
02 QIZtAAMSB=X 250, 000 800, 000 AB50, 000
OsLEZI|I=MgHE XA = 200, 000
OtII2E AEHZ A = 50, 000
HIEHUAMEZY 17,000 16, 700 300
201 LBt E| 3,000 2,700 300
03 &Ar2gl 3, 000 2, 700 300
Ostd2dUias 29 = 3, 000
301 LEE A Z 14, 000 14, 000 0
12 JIEt2 &3 14, 000 14, 000 0
OstZ3EXU A A& = 14, 000
oiEd B 12,171, 229 6, 102,179 6, 069, 050
oEd 25 12,171, 229 6, 102,179 6, 069, 050
MBOLY 22| HY XA 766, 000 692, 000 74,000
308 AXIHMSO0IH 766, 000 692, 000 74,000
01 RXSMIAESEZ 766, 000 692, 000 74, 000




SN2
M THEE 25
de NS E B (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OMIOHeY 22| A 1, 276, 666, 0002 *60% = 766, 000
(=2 383, 000]
= 383, 000]
Ot ESZ TIoHoI A XI& 162, 000 75,000 87,000
403 XX ESHHSA=01H 162, 000 75,000 87,000
01 XXSHXMAELX 162, 000 75, 000 87,000
OOt =Z ToHHTAIE EXIAS
360, 000, 000& *45% = 162, 000
[= 108, 000]
== 54, 000]
NASAEH0IEBAE EX XN 7, 066, 500 2,916, 000 4,150, 500
408 XX ESHHSA=01H 7, 066, 500 2,916, 000 4, 150, 500
01 XXISHMAE2LE X 7, 066, 500 2,916, 000 4,150, 500
O&0F MEfSRISALS 1,862, 000, 0002 *75% = 1, 396, 500
[ 931, 000]
== 465, 500]
OEHor MEHSRASALS 254, 000, 000& *75% = 190, 500
[ 127, 000]
(& 63, 500]
O3 MEHSJASAE 1, 600, 000, 0002 *75% = 1,200, 000
[ 800, 000]
== 400, 000]
OZe=3 X MEFZ2SAI 2,002, 000, 0002 *75% = 1,501, 500
[& 1,001, 000]
= 500, 500]
OEg MENESsSE =4 3,230,000, 0002 *75% = 2,422,500
[ 1, 615, 000]
(& 807, 500]
OdI| N=EM==X MElSJASIAIS
474, 000, 000& *75% = 355, 500
(& 237, 000]
= 118, 500]




PA et
A BEs
HANASAE ES (ctel A&
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
OS2 R 22NAH 25 1, 000, 000 0 1, 000, 000
402 QI2HXHE01HE 1, 000, 000 0 1, 000, 000
01 BIZEE=x 1, 000, 000 0 1, 000, 000
O0tMEE FER22MA 2= = 1, 000, 000
(= 500, 000]
= 500, 000]
HFaE FMEZT MEHOIH =& 3, 000 3, 000 0
201 LBt A| 1,500 1,500 0
03 &Ar2Zl 1, 500 1, 500 0
OFAE BMEX MEHDIEH HAH =&
1, 500& 200H 53] = 1, 500
301 2EtE a3z 1, 500 1, 500 0
10 HAIAHIEAS 1, 500 1, 500 0
OFAE HMEZMEND|ISY EFATAHEA
100, 000 *3H 53| = 1,500
AAStA2H HAL X 50, 000 2, 500 47, 500
307 gIztoI A 50, 000 2,500 47,500
04 QIZHHAIE X 50, 000 2, 500 47, 500
OM295| M=XALSAIOIL = 50, 000
S8 OM=s=E 235 2,500 2,450 50
206 =4l 2,500 2,450 50
01 M=Z=tl 2,500 2, 450 50
OsZ&)| Ods=S Hol7e = 2,500
MEF XM Z K& 700, 000 200, 000 500, 000
403 XXM SAH=01 A 700, 000 200, 000 500, 000
01 NUXIHMAZ2E X 700, 000 200, 000 500, 000
OMEXIE(HI2S) M
300, 000, 000 *7IH Al 2*1/3 = 700, 000
NHSZEMAIEE W X2 30, 000 30, 000 0
308 AXIHHSO0IA 30, 000 30, 000 0
01 AXNHHBAEXS 30, 000 30, 000 0




PA et
A BEs
HANASAE ES (ctel A&
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
ONHEZENM Algetn 29
1, 000, 0002 *60IH W *50% = 30, 000
OHM=SESES A XA 41,229 41, 229 0
308 AXIHHSOIA 41,229 41,229 0
01 XXNEHBLELS 41,229 41, 229 0
Oti=s= B3 HiXl 3, 153, 6003 *16H x50% = 25, 229
OR4 tdsE &z 2,000, 000& *16A| =2 *50% = 16, 000
CEHSEMY & 22 N&A 2, 350, 000 2,140, 000 210, 000
308 AXIHH SOOI 350, 000 310, 000 40, 000
01 AUXNSHHBANEES 350, 000 310, 000 40, 000
O 3a HAQR2(13H) = 350, 000
403 X SMS K201 & 2,000, 000 1,830, 000 170, 000
01 XXSHXA=2EX 2,000, 000 1, 830, 000 170, 000
OSSN (ML) 4, 000, 000, 000& *50% = 2,000, 000
MEZOH 2tel 2,297,060 2,943, 640 A 646, 580
CHo1E 22| 2,062, 500 2,825,250 AT62, 750
S REEZ W2 1,575,000 1,575,000 0
308 AXIHH SO 1,575,000 1,575, 000 0
02 d+uR3 1,575,000 1,575,000 0
O3 NERES 1, 750, 000, 000& *90% = 1,575,000
SZ2IHERUS W2 56, 250 56, 250 0
308 AXIHHMSO0IA 56, 250 56, 250 0
02 ===z 56, 250 56, 250 0
ostadgE=21a = 56, 250
dIAXSA B2 K& 371, 250 1, 134, 000 AT62, 750
403 XXM S K201 & 371,250 1,134,000 AT62, 750
01 XM A=2E X 371, 250 1,134, 000 AT62,750
O&EAINAXS I 2= AL 22,500, 000& *220H *75% = 371, 250
= 247, 500]
& 123, 750]




SOOI E 2tel (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SHBHEAMEE JI=XE 60, 000 60, 000

307 2I2tol A 60, 000 60, 000 0
02 QItAAE=X 60, 000 60, 000 0
OZMHIESAIEE JI=XE = 60, 000
Sy 22| 234, 560 118, 390 116,170
SEAEHHEAIE 22 27,000 15, 000 12,000
201 2et29gH| 2, 000 0 2, 000
01 AtSR2teldl 2,000 0 2,000
OtisgdastZd2elii=g M = 2,000
202 048I 20, 000 10, 000 10, 000
01 =LHMbI 20, 000 10, 000 10, 000
OZgHEad A HEYR = = 20, 000
301 et a3 5,000 5,000 0
12 JIEIEAZ 5, 000 5, 000 0
OfIZtatZ 2t =g E=s83 = 3, 000
OstZdAlN(128) ZAS = 2,000
AHESIAAE 4 207, 560 103, 390 104,170
307 2I2t0| & 5,000 0 5, 000
02 QI2ZHAAMEX 5,000 0 5,000
OaAHESIAAIE W=s = 5, 000
308 AXHHMSOIA 202, 560 103, 390 99, 170
01 AXSHHBNEXEF 202, 560 103, 390 99,170
OAHBZZAIE 2F 20, 000& *211H*1603| *30% = 202, 560
HOIZ2ol CHEA HMel & 22l 10, 962, 154 20, 758, 000 A9, 795, 846
HIIZ22 etEE Xl ¥ 22 10, 962, 154 20, 758, 000 A9, 795, 846
SEHHIEY =242 X 920, 000 920, 000 0
308 XAXHHMSOIA 920, 000 920, 000 0
01 XXHMBAEXEZ 920, 000 920, 000 0
SZ=HHE =HEA4Z2 XNH
100, 000& *23, 000E *40% = 920, 000
= 420, 000]
= 500, 000]




SA-etd el
X Hol=2 odH Xl & %El
S Hol=0l FENMel & del (S A P)
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
SOHZHIISSEXMIAE EX N3 1, 500, 000 750, 000 750, 000
403 N XIEHSA=01E 1,500, 000 750, 000 750, 000
01 AXSHMAZE X 1,500, 000 750, 000 750, 000
Os=sHEHIISSEMIAE AXI(2902) = 1,500, 000
[= 1, 500, 000]
HI?I 400 & Xl EHl X2 1,225,000 6, 847,500 A5, 622,500
403 MR EHSA=01H 1,225,000 6, 847,500 A5, 622,500
01 NXEMA2EX 1,225,000 6, 847,500 Ab,622, 500
OBl HOHE X ZHIAFE (294 2)
2,450, 000, 000& *50% = 1,225, 000
[= 1, 225, 000]
SSMESIIEAL &5 X2 1,140, 000 405, 000 735, 000
403 XIS SA=01H 1,140, 000 405, 000 735, 000
01 NUXEMA2EE 1, 140, 000 405, 000 735, 000
O3sMHESHEANE &S(2Hn)
3, 800, 000, 000& *30% = 1, 140, 000
[= 1, 140, 000]
HIOIS0HEAE X X3 1,702,000 2, 865, 000 A1,163, 000
403 XIS SA=01H 1,702, 000 2, 865,000 A1,163, 000
01 MXEMA2EX 1,702, 000 2,865,000 21,163,000
OHIISHEAE EXI(3MHA) = 1,702,000
[= 1,702, 000]
~ZAE X A& 4,000, 000 7,477,000 N3,477,000
403 MXIEHSA=01H 4, 000, 000 7,477,000 A3,477,000
01 XISHMAZE X 4, 000, 000 7,477,000 A3, 477,000
Ox2AE XA 10, 000, 000, 0003 *40% = 4,000, 000
[= 3, 000, 000]
== 1, 000, 000]
Hol2+H & N3 95, 154 93, 500 1,654
308 AXIHHSOIH 95, 154 93, 500 1,654
08 JIEIRE= 95, 154 93, 500 1,654
OsAed 3l=Ag 283 317,180, 000& *30% = 95, 154

_7_




dEE

A -c2A(3A) - NEMY - BES ol Ol &F o HwsZz
Meldidel 2 MelAld X2 100, 000 1,400, 000 A1, 300, 000
308 AHXIEHSOIA 100, 000 1,400, 000 A1, 300, 000
AXESHHESEXS 100, 000 1,400, 000 A1, 300, 000
OZOtE =Yot+ EXE M I HMel
100, 000& *2, 000=*50% = 100, 000
SN 2435 280, 000 0 280, 000
308 AHXIEHHSOIA 280, 000 0 280, 000
AXESHHESEEXS 280, 000 0 280, 000
OsS2MHERI| =HENS 766, 666, 0003 *30% = 230, 000
Os2XERI| AT A2 = 50, 000
s HI(&Z 2tel ) 12, 840 12,840 0
12, 840 12, 840 0
] 8, 640 8, 640 0
LBH2 ] 8, 640 8, 640 0
AtR2telH 8, 640 8, 640 0
O+t = 8, 640
el | 4,200 4,200 0
g2l 4,200 4,200 0
FA2EYRFAH 4,200 4,200 0
Otz et = 4,200




